Alu .nlu e Qd k) o
. s 3 g 2 < »
e — i) 1°) I 1 < <
- = = O O Q2 m / m < o O L m <
tM W us s s N o PM/% = B = m S
= a T S SN — . > .
Sz =b>%2 TERAD - : £ %S 285 = 2| 9|8
=< o e o > ; — %) o =
— O 2529 £ .m MV n\@ S 2 FE =y &1 K| g
x e ] B e < Swv o = 3
BT = N < > — o= X © ~
v D w m g = O w N o= = o
< - = _m.__ am S 2 U S 2
= = o c M s B [@) (] o
o 5 & & G 3 >
a8 s 2o =4 ; 2
2D S g oelay - ' = Mnm _ =
2 > o B u.u-m_ c & & S S
s a o S m Y = = T T °
3 c8E38 3 gE § Z 8 2 E |2
g . S Eis ¢ <= 3 S (3 |E
S > a ® £ ; ® o © £
\ J J N\l RN J
A010d N 1SNdSI- - -00°GL1+0
- N2 ~ 60°0} 066 - 60" mE— -00°0L1+0
o
0LLL - 6eL N 00°501+0
. [l
N S 911 . L) 00"
ONXO ONTUFIINIONVL- | 77 G0 [ em vevh w1 [ LSTE LIS 00°001+0
- 981 -00°G60+0
- 8L 2 E E  [-00°060+0
3 32 8
o - T6v) XS S [00°580+0
N =
- 60°S) -4 W 100°080+0
SRl ©  100°5£0+0
. ) . w
ONXO ONTVIIONIONYL- PO st | eost | oson b 1oL 071651 2 o000+
SRt c E | oos90+0
xR (=]
L S - 99°9 3S < 1-00°090+0
a < ~S
S N S} i) 2 oossoo
= =
L - €921 aol L 100°050+0
2 ONMO ONTVFTINAONYL- €0 [ s | yyg szl [ 897b £5.680L9) ©  Loosroro
S - 19'81 c = |ooororo
xR 29
S 3 116l S8 S -00°5£0+0
5 d S - 19%1 Ik &S fooogo+o
= M - m
m = - 8007 el Q2  -00°570+0
=} ONO ONTVIIONIONYL- 0 | oo | ooz ©ogpe [ VS Fh5P89) D | 0002040
= o ~ 06707 52 E -00°GL0+0
o
=) 2 - vz 2> -00°010+0
o o~ I ﬂ_
— - €61T =1 -00°500+0
= 10 [ sz | oz €0z - GPL- ,0000.08} 00°000+0
=
N ” ” ” ” ” ” ” ” ” ” ” ” ” ” ” ” ” 86°500+6
= N -~ o (op) (=) N (d] Lo < o N hin o (=] (=) N (4] LD
~N N ~N — — — -— — — — — -— —
©
—
| -
)
o = @©
o 2 >
= m ) @© % 1) ~ S
o o Te} C o -~ (O] — .—
E o I W (@) m Q@ nVu £ > va_/d_
— . —
= = > ~ ) o 2 S| o ©
e 8| 8 o | = ® S | © S
. |mna Q - c c O (@)
& | c ) Q Q o N E o
N -— -— -— © — o) ©
@) @] (@] =) Q) ) b -
O X X X () o I o 0p]
Be - 00°012+0
ArNGOAQO IXSNIY0E0 AVLSNS 193r0LS0d N AIFTZI- 0z'e A | 00°502+0
¢, oS Tl e " 00"
— 1L 00°00Z+0
, Q—Q - SIL T o YA = WHOFYe07C
- 9Lz 2 E -00°G61+0
. n
05¢l Ly mw - 00°061+0
2
— €I0 | ez | &L | s [T T [E -00°681+0
0L'T) e g2 -00°081+0
AUI
- ovL ) I -00°61+0
N__O -l | s | 09 = 0C'L- = wE2.8)oL6 0002140
- 0gL o E -00°591+0
o S
S - oL 88 - 00°091+0
N
o - /92 L) -00°661+0
- 06L e -00°05}+0
ONXO ONTVI'IONIONYL- L0 | ws | zg | oy [ 09V 635152 | o0'cpL+0
. IS .
- €e'g e S [ooorio
S - 658 S8 =  [00°SEL+0
© r © ~
2 - c6'8 i o Fooogk+0
- e 2 [00°5Z1+0
: . 98 . Z .
ONO ONTVFION39NVL- 010 [ w8 | 66 [ gg [ 09 0000.081 g [0002+0
L bg01 E  Loosii+o
o
EoLL 2 E = |00°0L1+0
o S o =
S a3 (=)
S - 69711 mm - oosoL+0
=
- 9Tz -4 L 00°00L+0
O
- €871 o [00'560+0
: . = )
ONYO ONTVFIONZONYL- B0 | we | e | g | 694 .0000.061 = |ooosor0
- 86°¢l m -00°580+0
- - S5l < E S [00°080+0
b o
S SRR} = 2 100760+
= i
S - 69761 L0 & [00°0£0+0
= - o -00°690+0
S ONXO ONTVI'IONIONYL- 80 | oo | o |OAE L ger- paar 00'090+0
= - L -00°550+0
o
@ - -~ 008! 2 E -00°050+0
h 5]
b v = - 858l =g -00°60+0
1l
= W L 9161 =X L00°0¥0+0
o
e - 6961 -00°G£0+0
o . ) . .
— ONXO ONTVFIONIONYL- [0 | wo | ovror | ONEF o997 S50 - 00°0£0+0
e - 19°02 -00°520+0
o=
a - 66°0C < E -00°020+0
= =] : 88 .
= S - et 3= -00°510+0
=] @ - 0912 14 - 00°010+0
N
= - €817 -00°500+0
mQ - 002 |- 00°CC |- 802 - 8lL'L- 400.00,08} 00°000+0
5” 4” 3” 2” — 0” 9” ooﬁ _/” 6” 5” 4” 3” 2” — 0” 9” ooﬁ _/” 6” e 86°500+6
o~ o~ o~ o~ ~N ~ — — — — — — — — — —
©
—_
| -
)
o = Q)
o 2 >
= m o ® % ) < S
r o o) - o - © — —
_.k o 1 W (@) m Q@ W £ > vn_/a_
— . —
= = > X ) o = 8 O ©
| 8| 8 o | = ® S | © S
. |mna Q - c c O (@)
& | c ) Q Q o N E o
N -— -— -— © — o ©
@) @] (@] =) Q) @) b -
O X X X () (Al I o 0p]




